Project #3 Grading Sheet

Part 1: Introduction (5 points)

Part 2: Understanding the simulation (40 points)

· A packet that contains only an acknowledgement and no data [X / 6 points]
· A packet that contains both data and an acknowledgement (called piggybacking) [X / 6 points]

· A lost data packet that causes a retransmission [X / 6 points]

· A lost acknowledgement that causes a retransmission [X/ 6 points]

· A lost acknowledgement that does not cause a retransmission [X/ 8 points]

· A timeout (not caused by a lost data packet or acknowledgement) that causes a retransmission [X/ 8 points]

Part 3: Experimenting with the simulation (50 points)

· What effect does increasing/decreasing the MAX_SEGMENT_SIZE have on the simulation and why? [X / 10 points]
· What effect does increasing/decreasing the TIMEOUT value(s) have on the simulation and why? Given a set of values for the other constants, are there ideal timeout values for A and B, and if so how can you find them? [X / 20 points]

· What effect does increasing/decreasing the network DELAY have on the simulation and why? [X / 10 points]

· What effect does increasing/decreasing the network LOSS rates have on the simulation and why? [X / 10 points]

Part 4: Implementing and experimenting with sliding windows (10 points extra credit)

Part 5: Conclusion (5 points)

